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HIGHER SECONDARY FIRST YEAR

Last minute study questions

COMPUTER SCIENCE

Unit—1

Short Answers

1. Distinguish between data and information.
&6 LoHMILD HHaU6 CalnIL(BHSS!5.

2. What is the function of an ALU?
&H60011 5 JIeoTd Q& UL6VEH ST 60T (ALU)
QEwWeLIT(H WTEI?

3. Distinguish Primary and Secondary
Memory.

(LNSE0TE0LD [Bl6mEoTaU S5 LD DM MILD @) J600TLITLD
Bl6m6V BlemetTaudsd CeumiLim@) WImSI?
Explain in Brief Answer

1. What are the characteristics of a
Computer?

ool 11QUITIIUN 60T &560TEmLNSH6IT WLITem6U 2
2. Name any three output devices.
gD eLpeoTm Qeueflufl ()
FTSH60THIG 06T el6ms: & 5?

Explain in detail

1. Discuss the various generations of
computers.

FHeoor1LIQUmmlufesr LiLGeuny
560)60(LNE0 M E6M 6T 665 (& 5.

Unit -2

Short Answers

1. We cannot find 1°s complement for
(28)10. State reason.

(28)10 8@ 1-607 BITLIL| Wemm ullev aflemIL & mevor
(P WITE. 6J60T SHITIJ600TLD Sn M.

2. List the encoding systems that
Represents characters in memory.
TS S (HEGEMET [Hl6MeTEUH STV 68
WImEheUsMmasmeT GMIUTL G (Wnemm&eneTL
UL 19 W ed(h .

Explain in Brief Answer

1. Convert (150)w into Binary, then
Convert that Binary number to Octal
(150)10 &G BI& 6T @) ([HIB16M6V 6T6T0T600T TS
LOMMNI], 215 60)60T 6TE00T600T160Y6V 6T60OT 60T TS5
LOTMHMIS.

2. Write short note on ISCII

ISCIl LI 6uenTss.

Explain in detail

1. a) Write the procedure to convert
Fractional Decimal to Binary

b) Convert (98.46)10to Binary

(<)) WL LeTerfl LIG)60TLD 6T600T60)600T
@) (BBl 66V GTEBOTEOOT IT 85 LOITM MI6) (1) & IT60T
aflwenm seneT alleuifl.

(=) (98.46)10 &(& BISTTEOT @) (HDHI6NEV
6T600T600T IT&5 LOITM M.

Unit—3

Short Answers

1. What is HDMI?

2 WIJ UM T UIENT LIGVTL_ & @)60)L_(LN&LD
(HDMI) 6T60T MIT6V 6T60TEOT ?

2. Which source is used to erase the content of
a EPROM?

EPROM- 2 66T SJ6016) 6T6UeUmmI LSl ILImui?
Explain in Brief Answer

1. Differentiate PROM and EPROM.
PROM wommitb EPROM GaumiLi(h &S 5.

2. How will you differentiate a flash Memory
and an EEPROM?

SLI6Tmeq. BlemesTaudsin LoMmLD EEPROM
eTeUeUMTMI CaumILI(H & SIeUITI?

Explain in detail

1. Explain the types of ROM.

ROM 60T euem&&HemerLl Limm) eNlemd:&Lnmss
eI(LD&IS.

2. Explain the characteristics of a
Microprocessor.

Bl650T Q& W6 UNGOT LI6TOTL| Fon. 1)1 5560061
6Ts: & .
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Unit—4

Short Answers

1. What is a GUI?

GUI 6T60TMIT6V 6T60T60T?

2. What are the different Operating Systems
used in computer?

SeoofILIQUITMIuileL LiweTLI(B S S LI
QeauaGaIm @UIHSE D 6MLDLIL|GEHET UITen6U?
Explain in Brief Answer

1. Write a note on Multiprocessing

L6V QFWVTHS @) UIGHSH emliL] Floy
GOILL euemTs

Explain in detail

1. Explain the process management
Algorithms in Operating System.

QWSS eMLLILINET Q&F W6V GLDEVITEIOTEML
QBN (LDEME6m 6T 6T 5.

Unit—5

Short Answers

1. What is known as Multitasking?
LI6VLI600T IWLITE5 85 L0 6T60TMIT6V 6T60T60T?

2. Differentiate Save and save as

Option.

Save LDMMILD Save As-& & 2 616 GeumiLIm(h)
wmai?

Explain in Brief Answer

1. What are the functions of Windows
Operating system.

el eooTGLITeN @) UI885 |emLoLiLIeoT
QEFWELLITHIG&HET WITemeu ?

2. Write a note on the elements of a window.
6l 6ooT GL_ITEN) F60T60T6L B\ 60T 8 Fon MG 6DIGITL
LM GOIILIL| euen .

Explain in detail

1. Write the procedure to create Shortcut in
Windows OS.

Nl eooTGLIT6N @) UI88 emOLILN6L GHSHEG euld
16001185 & M) & 6061 2_(H6UTE G Q1F W6V
(EMENL 66ITE: & 85-6V (& M18 G606l

9 (HEUTEHS Q&F U6V (LPEMM 6T(LSHELD.

Unit—6

Short Answers

1. Distinguish between an algorithm and a process.
R QBMILPD HOID G
QFWeL(hemmenl CaumiLI(HN&H S8 .

2. Specify a function to find the minimum of two
numbers.

eLNedTMI 6TevoTSs 6116V, LOl&s G\ NIl 6T6uoT 60 600T
FHe0T (LI 55 62([H GF UIGVLITL 6oL

(&3]0 NI [IST]T )

Explain in Brief Answer

1. What is the format of the specification of an
algorithm?

@® OBMweam UbHMlw efleurs@mliiLiler
6ULQ QU6EDILOLIL| 6T6OT6OT?

2. What is the difference between assignment
operator and equality operator?

LHINGSSHM QFWHSM DHMILD FLOBlemev
QEFWMHGSN @6emL G 2 6T GeumiLIm(h eT6oT60r?

Explain in detail

1. Write the specification of an algorithm hypotenuse whose
inputs are the lengths of the two shorter sides of a right
angled triangle, and the output is the length of the third side.

@ QBMWenmUle) Sijetorld (hypotunse)
LW e9eus @&l LILI8606IT 6T(LDSIMIS6T,
6U6L G CBsITeoT (NG G 8 T60TS B 60T @) T600T(H)
GBS LISHEHSMS WD, LMo Qeuefluih
BemLD eLNEdTMITLD LI 8:856M & WLD &IT600TSs.
Unit—7

Short Answers

1. Distinguish between a condition and a
statement.

@ BlIUBHSENET LDHDILD G DM —
CaumiLI(h G SI5.

2. Both conditional statement and iterative
statement have a condition and a

statement. How do they differ?

BIUBS D688 DO DHDILD & PHE &8 H oI
@ueoTGGLY, ([ BILIHSEMETLOMHIILD
QFWELLIR FaMmemmGLUMHMHEHER MS! eTevflev,
Ilemel eTeuaUmm GaumLIGSRMSI.

3. How do we refine a statement?

(H FaMMI eTaUUTM QLMBEHMHMLUILIGEMSI?
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Explain in Brief Answer

1. Draw a flowchart for -3case analysis using
alternative statements.

CHIHASHILILIE Fammisemerll LwWeTLUB S,
eLN60TMI case LIGUIUIMULE &, LIMWe|LILL LD
6260T6M M QU T 5.

2. Define a function to double a number in two
different ways: (1) n+n, (2) 2xn

62(IH 6T600T60)600T, Q& M(H &S LILIL (H6T6r @) 76vor(h
GeaumiLi’ L aufl&serflev, @Il lILIME @D

QFW MM epetTenMeUEmTWMI(1) n+n, (2)2x N
Explain in detail

1. Trace the step-by-step execution of the
algorithm for factorial(4).

factorial(n)

-- inputs : n is an integer ,n >0
-- outputs : f=n!

f,i:=1,1

whilei <n

fi=fxi, i+l

Unit—8

Short Answers

1. Does testing the loop condition affect the loop
invariant? Why?

mHmleSuileT Blenevemnemuld CFTHILILIS
LG THmLieSlenwil LM&H & ELm? geor?

2. Define factorial of a natural number recursively.
@) W6V 6T6uOTEO0T 60T QSTL T QLI[HEHHSHMS S
SH&HWLHFF WemUI6L alemT W MIGE6]LD.
Explain in Brief Answer

1. King Vikramaditya has two magic swords. With
one, he can cut off 19 heads of a dragon, but
after that the dragon grows 13 heads. With the
other sword, he can cut off 7 heads, but 22
new heads grow. If all heads are cut off, the
dragon dies. If the dragon has originally 1000
heads, can it ever die? (Hint: The number of
heads mod 3 is invariant.)

LD 6oTEoTE0T GG [T LD H) & & 601D @) F6vor(h)

BB TEUTETE 6T @) ([HE5 60T 60T. 62(IH GUTED6IT
MGG 6U6TITeL CoUSTETEH60T 19
H6M6VGHEMET Gla L 19 G UM (LOLYUL|LD. 2460TIT6V,
56T 60T GoUBTETSHIE G 13 He0r6V86T
(LDEDETE G 60T M6OT. @)60TGIEOTIT(H CUITENET 606U S
7 HE0VGEHEMET Q6UL_1GQUI M UI(LOLYULD. 246DTIT6L,
HMGSLILN6T 22 LB 60160856
(LDEDY6ITE: G\ 60T M6DT. 6TEV6VITE 556016V 8 60)6IT L LD
Qaul1lgaill L mev, GaugmaTld Q&SI GILD.
GRUBTENS S5 b TDLISSH6V 1000 60160561

@ BHSTE, G FTHR MEUTUILIL| 2_600TLT?
(GSMILIL]: H6m6v mod 3 —6T600TE00T 18608 DM TE).
Explain in detail

1. Power can also be defined recursively as

1 ifn=0
anr= | axan if nisodd

an2xanz2 ifniseven
Construct a recursive algorithm using this
definition. How many multiplications are
needed to calculate ai0?
Unit -9
Short Answers
1. The following constants are of which type?
(i) 39 (i) 032  (iii) OXCAFE (iv) 04.14
LNetreu@pld Lmiled&E6T 6Ths auemnds nmmledsser
AGD?
()39 (ii))032  (iii) OXCAFE  (iv) 04.14
2. Assume n=10; what will be result of n++ and --
n;?
n=10; eTevtl6v, N>>2; 60T &l6mIL 6T6DTEDT?
3.. Consider the following C++ statement. Are
they equivalent?
char ch = 67; char ch =‘C’;
LNeTeU(BLD C++ FnMMISET FLOLDTEOTS T
6TEOTLIENS &600TL M 55.
char ch = 67; char ch= ‘C’;
Explain in Brief Answer
1. Is C++ case sensitive? What is meant by the
term “‘case sensitive”?
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C++ (b 1RSS! QUlg6l 2 6T TSHUWIT? 1SS
QUlQ 6 2 60T [J& D) (case sensitive) 6T60T LIS 6dT
QULIT(H 6T 6T60T6OT?
2. Differentiate “=" and “==".
“=" IDMMILD “==" GauMILIHSHSIS.
3. How relational operators and logical operators
are related to one another?
UL 0 QFWMHSMI&EbHLD, &HE5HF
QFWMHSGSMIHEHLD 6THS aUenduilev
QSTLILI6MLIM6U?
Explain in detail
1.Write about Binary operators used in C++.
C++ -6V LWeTLMSSLILIGILD @ HbHlemev
QFWMEGMHem6T LIMmM 6T S15.
Unit — 10
Short Answers
1. What is a null statement and compound
statement?
QaUMMIEFa MM LDMMILD Fol_(H&Fa DM
6T6EOTMITEV 6T60TCOT?
2. What is the output of the following code?

for (int i=2; i<=10; i+=2)

cout << i;

3. Compare an if and a ? : Operator.
if FaMMIL 60T, 2: (LIQFWMGSMenw el B\ &.
Explain in Brief Answer
1. Write a C++ program to print multiplication
table of a given number.
Q&M GG LILIL L 6T6voT6001 60T G)LIH &6V
QITUILIUTL 6L FF (HLb C++ BlFev
6260TE0) M 6T (LD S1 5.
2. Write the syntax and purpose of switch
statement.
switch aMMIET &1L 606 QST N TG
S|560T LIWLIEOTE 606 LIL 19 W69 (H) 5.
Explain in detail
1. What is an entry control loop? Explain any one
of the entry controlled loop with suitable
example.

Blempa| CEFMHILIL LDOL &G 6T6dTMIT6V 6T60T60T?
JGSHEVILD @ HlemLpa| CFMTHILIL DL &0
QUMHSSLOMET 6T(H & SI&HETL(HIL6T l6Ts: & 5.
2. Write a program to find the LCM and GCD of
two numbers.

LCM ommitd GCD GUIMeTMaUMemm
60075 G (h 61U M SITET Bl T6VE 606 6T(LD SIS,
Unit — 11

Short Answers

1. Write about strlen () function.

Strlen () QEWMTnMLIMN 6T SIS

2. Write a note on Local Scope

2 _6TememLn eUem TR WeVemev LM & mi&GmlLiL
CUEMT .

Explain in Brief Answer

1. What is the difference between isupper () and
toupper () functions ?

isuppr() LDMMILD toupper() Q& Wi ) 8w M1 85 6rfledT
CaumILIM(H 6T WITemI6M?

2. Write short note on pow () function in C++.
C++ QomSluiley 2 6iterm pow () Q&F WM a0l LIMM
FmIGSMILIL] UNTE.

3. What are the information the prototype provides
to the compiler?

Q& WM &M (LP6IT aULgaID BlFLQUWTLILNEG
6THh& & & 6)6M6V6LNMIGLD?

Explain in detail

1. What are the different forms of function return?
Explain with example.

QFWMFM H e S (LI eIl
LIeLGeuml 6UlaIMI&He06T 6T (H &S5 &ML (hL 60T
aNlens: & 5.

2. Write a program to accept any integer number
and reverse it.

@) (LD 6TevoTEn6toT2_6Talf () 26MG
HMVELOME DMMHMLD Q&FUWIWLD BlFemev
T(DSI5.

Unit—12

Short Answers

1. What is the syntax to declare two — dimensional
array.

@\ Uiflinmevor 6ot eml o mledl& &L
QsTLIflLem6 TS5,
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2. What is the error in the following structure
definition.

Netreumid &L (@ euenTwenmuiley Lemip
6T60T60T?

struct employee{ inteno;charename[20];char
dept;}

Employee el,e2;

Explain in Brief Answer

1. Write note an Array of strings.

Fmigerler 9evoflemwiliLimml &lmi@ iy
(DS,

2. What is called anonymous structure .Give an
example

QUWIMM &L_(H\([H 6TEOTMITEV 6T6OT60T?
TOHSEGSHTL(H H[HS.

Explain in detail

1. Write a C++ program to find the difference
between two matrix.

@ T600T(h) 360011 &HBHTem UG 6160 2_6iTerT

WG LILserfler ell&GIWImeLD &evor Ll [BlTemev
T SI5.

Unit — 13

Short Answers

1. What is polymorphism?

LIGUEI(HEUTEH LD 6T6OTMIT6V 6T6OT60T 2

2. How is encapsulation and abstraction are
interrelated?

2 M QUITHWMSHSLD LDMHMILD

S| ([HEULDTEH (G H6V 6TeUaUTMI G SHTLITL]
LBGSSLILGEDSI?

Explain in Brief Answer

1. What do you mean by modularization and
software reuse?

Fa. M) [Bl60IEVITE: &6V LOMMILD G\LOETGLIT(H6IT
DM LIUIGOTIT&H &0 eU6m T UM

2. Define information hiding.

H&HEIV LDEMMLIL| - QU6 TUIMI.

Explain in detail

1. Write the differences between Object Oriented
Programming and procedural programming
QU6 CBITEH G BITeLTEHSLD DM MILD

B0 L_(LD6mM BlTeLVMTEHSHLD- CoumiLi(h & SI5.

Unit — 14

Short Answers

1. Differentiate structure and class though both
are user defined data type.

LWeTT euenTumiSs STallerd 6U6m8s Ul meor
&L O\, @6THGSGW — CaumLOSHHHTL(H 5.
2. Write down the importance of destructor.
PINWlesT WHER WS SIS LiMHN)
(LD SI5.

3. What is the difference between the class and
object in terms of oop?

QUMET CBTEHEG BlITeVTHE GMl(Wenm (OOP)
|1Q LILiemL_Uileb ©)60Tdh G (W LDMMILD QLITH6IT
LN CaumLIHSH&HEHTL(H&.

Explain in Brief Answer

1. Write with example how will you dynamically
initialize objects?

BlFedlerr Guini@ CHISSIL @ CUITHEn6T
GTAIRIMMI QGTLHIG eMeULILIG 6TeTLIENS 62(H
T(HSHSIHHTL(HL60T TS

Explain in detail

1. Mention the differences between constructor
and destructor

2,55, AL - CaumiLim(h &[H S

Unit — 15

Short Answers

1. class add{int x; public: add(int)}; Write an
outline definition for the constructor.

class add{int x; public: add(int)}; ©)eoT&: & (W eNledT
QeuefGUISLES 66t T U MILIEOILICT(LD SIS,

2. What is the use of overloading a function?
@H QFUWMEn M L6vof 18l & L1060 Liul6eoT
Wwmg?

Explain in Brief Answer

1. How does a compiler decide as to which
function should be invoked when there are many
functions? Give an example.

LIV QFWMTaMIS6T @) (H&H G LD CLITSI, BlT60
QUWITLIL UM MIET 6THS Q& WiM Fe Nl 60)60T
QFWLLI(HSHS GeueooT(HLD 6T6OTLIENEH6TLILILG
SILOMeo & @GLD ? 6T.5T.5(H5.
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specified;

class sale (int cost, discount ;public: sale(sale &);
SMIUUIL L QeFwWmIamlen s s inline < 3 o
SIVEVITS QUM ILIMIS S 606V 6TIDS. \9@3'\9 g.'a,/\L_\g
Explain in detail YouTube Channel
1. What are the rules for operator overloading? - 9659838189
Qewm@M Leofl O &LILMHsEsmeor ' : ' :
A& (LM SHET WITem6U?

Unit — 16

Short Answers

1. In what multilevel and multiple inheritance

differ though both contains many base class?

L16V 919 L1LI6D)L_ Q) 60T (& (LD E&H6IT G185 T600TL LI6V

Blemev LnMMID Leveaild g ifliold eThS

& UI6L GaumLIH&E MEI? @%}h%-ﬂ%@

2. What is the difference between public and TR
private visibility mode?

public LDMMILD private &T6UOTL| [B6M6VLIITHIG

CoumiIm(® &(HS.

Explain in Brief Answer

1. What is the difference between polymorphism

and inheritance though are used for reusability

of code?

BlT6L (WemmMUIN 6T LDMILIWLIGTTEHESSHM S

2 556 |F60TM LIV ([H6U T8 8 S MELD

LrYflgSH MG 2 6Tem CeumiLim(H&6T

WImemeU?

2. Write some facts about the execution of

constructors and destructors in inheritance

LIYfngH 6 QUISSLILIM LD 3,85 86T

wHmid WLNser Ul AoiGMILIL alenTss.

Explain in detail

1. Explain the different types of inheritance

LIYfngser LevCam auendaemneT edlaurfl.

2. Explain the different visibility mode through

pictorial representation.

LIuGeUmMI &5T6DoTL|Bl60I6V LITEIS 6mesT

QUMTLIL G608 Q18mevor(h) 6lemss @ ss.
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